May 2005 #2 (QM)

e
N.E

m, £ E- 7Zm

V=yRS(s-R

a. S-weve SCchr{n_() cross <ection O

For  the j:O tere {0 apevhe

&‘:c»m{n“;um )

Gy= HIT Q)nz,s;ﬂ 9 s the phase shift i the wave,
ka’ gﬂ(;};:bi = A.S‘n‘n[/irfs_(i] o
* Solve  the Scheddingee  Equation o £ind  +he phose shyth
Ro Ay (ked+ Bog(kr) = Aginlkd— Beoslkd r>R
ke ke
Roe  Ci (k) = Csinlkd <R
ke
Two Boundery Condiisps: O ¥ oc R _is comtives of ¢=R
@ G fonckion  potentlal; Y i discontimvoyg
vy IVas_ lmEy
VY- 7‘;;3/ A infegrate  from R-€ w Ri€; (f‘)'.'crg”-}; Feem Vapishes
- 1 2 zi
‘V7Q = r*ar r ~ (r d(’(?rd(nt.,;)
NN TR (% tecns _conce! out |
fGi a(_t{ (‘/ s (Vi j
. |
. | IR
a,&’( - 0&)—@‘,‘ = 2 \/RlQ‘(I,Q; vaR Csin(kR)

P kR

O Asnlrr)- Eeos(iR) = (g

ce )
AR = C=A*é calits

!

@ R AcoskR + & BsinkR — éCcosH’\"- e .ﬁz;‘ B Csin kR

2
‘wont  Ju calylate A, fo  Bpd #he P}mz shif b, Hheetoe  sobstiture  C

»t-"\,

AcoskR+ BsinkR — Acoskr +

LR,
ECS;‘AER %_\F:/\/;'\BA$;‘0)ZF —— vaagcavkr

Df'-pin < AE M

L2
s

6(smkﬁ_+ .-s%f kASmkR “ngskr?

—_t

Shkc

£ A A
;n):rv‘";ZCOS"R)% “AY Sin kR




B %Sinzkﬁ
A | + 2 sinkReoskR
A h 7
Ro= ke (Asinke - Beoske) = IAR" oo (ke +. S ) 5, +a”d/—’§j
E= ) A e "o// hd oA
ke »
A2
%O: _40,;'/ ESin kR \
) F —,:-sr;i'cﬁcos)c& }

e 25TER ]
\ )]

)+ ,—}s;n;&@casm

L' O, Vonshes when $in 6,0,  oc Sc: nn_
= oC "0/\"( \—A AT = O (6(\f~, o s PO‘-?SM.}(_)
\ ]
A
= L SekR A
3 il 4
| + g SinkReoskR
S,  vopshes P  kKR=A0" _
a1 05 ImE RE71iN
k . R = %{: - E- ZMRZ

I -

I ‘// . ’ : e
(or... b doesnt $ee| the polenkd - 1415 ok Scabtrrd, fence o‘-»o)

C. when £=0 k=0 SnbR—ER cosk . —> |
"f’on'I/ % 2R \ - +OY\\'/ Xkﬁa \; — /\ kRz /as long, as 14+ 3R na#\
i+ A8 Yy BT

Sin%/ Am?i‘\),_,l A K2RY
I+)e / 0+ )er)*

- —\2Z Y Zmvi
6;; _ Hij >§ R/ >\: -hvz'
(i IR)
Ak RE T . . /N
d. S.° klg“"zﬁon" ,',*,‘xﬁ){ £ [F IR0,  then  Tan'( /“>tg/
> ] Qat—> ] 3,500
7 > B
@p}—p@ ,f , + Z‘M\/Rz: O
ﬁﬁ-
TR ,



jbparker
Rectangle

jbparker
Rectangle




